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< 352,828
Al 1,332,415
WEEAM HE (RS AY) 435,998 416,016 19,982
SHFIXNES 2012 AY 3,300 3,300 0
303 &3 3,300 3,300 0
01 Z2&= 3,300 3,300 0
OSEFIXES 20(2 Al 3,300
— I 1,500,000 1,500
- 1,000, 000& 1,000
— & 800,000& 800
WEXNEHS AIBSIRFA 5,000 5,000 0
201 LBt | 1,000 1,000 0
01 At 22l 1,000 1,000 0
O=8Y=EX 2= M& S 1,000,000& 1,000
203 YR =] 4,000 4,000 0
03 AIZ=XH 2 =AY 4,000 4,000 0
OUEXNE Al H2FX 4,000
—WsSEAN HEEs = 2,000,000& 2,000
— S8 - EX U533 =& 2,000,000 2,000
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01 At 22l 43,308 47,088 A 3,780
OQUEZENEY & SHI(XD])
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OnsSXNEe=a 2aHeltl
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Os8 = FX HA - 8Al-SISUHEEHEF O
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OJMHEE=ES 80& x180,000AH 14,400
OEY =-4dX EiE ESAAE SKINES
1,900,000& x12& 22,800
HA dEE &80 84X o= 35,000 42,000 A7,000
401 Al HI L 2 0HHI 35,000 42,000 AT7,000
01 Al& H| 35,000 42,000 AT7,000
OHAANZSHE & IXZE dEE SANES
2,500,000 * 140 & 35,000
DEIN SASH X2 244,790 194,450 50,340
307 QI2t0| & 188,790 194,450 AN5,660
02 A2tAMNE XS 178,790 194,450 A 15,660
QU0 ECHH I (NEEMAHAEF]) 52,500
—HEgsH K&
2,700,000 42 D] *2 0 &t A 21,600
— AT (s 1Y X
35,000& x270H *2JH S| 18,900
— WESHMAY P XA
20,000& x300H *2JH =HH| 12,000
QBN ECHH XK (2H2EX3Z]) 58,250
—HE&sH X 2,700,000 x43] *3IH S A 32,400
— Az (gshH)=e 1Y X 35,000& *470H 16,450
— NEAHEZEH 2 XA 20,000& x470H 9,400
QU WECHH X R (=M DILIZ) 68,040
—HEE Y H=HH 2 K
20,000 x3,402H 68,040
04 QIZ2tSHALE X 2 10,000 0 10,000
OdIN=sER2H28 s HdXISHEE 2 H ol
2 SOISUHE AR 10,000,000 10,000
402 SI2FXHE0| M 56,000 0 56,000
01 QI2t X2 X 56,000 0 56,000
OUEEANHAES WEAHET =& 2 XA
28,000,000 = 1CH *2JH SH A 56,000
ZHI AW oS AT 220 HHIA 17,400 32,218 A 14,818
201 gBt24d| 17,400 8,600 8,800
01 AFSR 2t 2| bl 3,000 5,000 A 2,000
OFHX |8t & AFE 22/0] MElA EE2
NESS 3,000,000 3,000
02 =224 H| 14,400 3,600 10,800
OFHX At &= AFE 22|01 MHIA 2XH(
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OFHX |8t & AFE 220l AMHlA AR
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N & 0l &t 2 A AN A
20148 &= 20 A DEAY &
25 337 AHNEN
HE: DEIAN =
@2 =EXUE SAH2(WEAY) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
P 2HUSH 704,959 841,538 A 136,579
WEEAN =& 510,302 644,076 N 133,774
EAE SN2l (WSAHY) 52,800 164,200 A 111,400
HWE=Xa 24 832 N 1,700 0 1,700
402 SI2vXHE0| & 1,700 0 1,700
01 QI2tXE8 X 1,700 0 1,700
OUWEF=XE =24 X2 1,700,000 1l &~ 1,700
SHFEINE AEZE SAES 20,000 121,600 A 101,600
401 AlEHIZL 2 0HY| 20,000 121,600 A 101,600
01 Al&H| 20,000 121,600 A 101,600
O29FXE AldsE FAES 20,000
—CCTV & Z2HMAIAE SAE4£
2,600,000& #2004 & 5,200
— ABEIIANEZE RAESE
1,800,000 104 &~ 1,800
- FXE TES |SNUBE
3,500, 000& *2H A 7,000
— =X HMIANES SANES
1,500,000& #20H A 3,000
—FHHEH U JIEBRIEA
1,500,000& #2204 A 3,000
SHAEINE 29 31,100 42,600 A 11,500
201 LBt ]| 6,100 17,600 A 11,500
01 AP 22| H| 5,800 15,800 A 10,000
OZ2YFX& 2el LBt H|
200,000 *204 & 400
OZ2LFXE dot2e e 292
100,000 x12& 1,200
O2HFXE Ot &8 &
100, 000& *2JH 2~ 200
OEAs snsdIfYss a0 HE
100, 000 x200H A %23] 4,000
02 2=2=24%H| 300 1,800 A 1,500
O2YFxE HA=U2 150, 000 204 A~ 300
401 Al HI L 2 0HHI 25,000 25,000 0
01 Al& H| 25,000 25,000 0
OFEI 2" AABSE F=XE TAHISA
25,000,000 x1A! 25,000
EYH FTHI ZE(LEANY) 437,968 461,604 N 23,636
=YHFAEX HE 437,968 461,604 N 23,636
201 LBt Y| 419,768 437,704 N 17,936
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500,000& 12& 6,000
OEY=ZI ¢ 2 Nz F+ERE =g
H &4 500,000& »12& 6,000
O=8H=Ex MEHHE AEIA WA
200& *6,00000 x12& 14,400
OPDA ctE8 & Xl 1,100& 1,500 1,650
O &t Y CCTVE S LEHE R AIMES XA
2| =M & 120& +8,00004 = 12& 11,520
OESY=EX HLEs2E &2 M
100, 000& =604 6,000
OS8=ZX e 228 M M
100& %10,0000H 23! 2,000
OSY=3X & AN =HYRRAS 2+
=4 70,0003 *5H »26 3 9,100
OS28=3aX Mz FJIe 2DIAM A=HH
803 *3,50001 128 3,360
Oz FIIE XM BtE2 AFHE
80& x1,7000H x12& 1,632
OER=d S5 AN AFHH
80& x2,8000H x12& 2,688
OMNEE MY E2=dd IXNA 2AFHMZE
802 %33, 5000H 53] 13,400
O8YE MY €8=d IXAM 2AFHMZE
80& x1,5000H x93l 1,080
Oz dUER =2
500,000 »12& 6,000
Oz A8S3tE 2 SZI| 2=
16,000 122 192
OLHZ A8SHE 2 SZI| A8 =2
350,000& 128 4,200
ORESH A8 U GHH 52 SIHAHLER
3,000& =300 900
O= &l 12,768
—SYFEIN &L 22% S4H 12,768
ENI R 7,000 «2H+20L « 128 3,360
OF 2t 7,000 x4 H +20L x 128 6,720
oG 7,0003 «4H«8L 128 2,688
02 3323l 316,878 328,194 A 11,316
ORERS 300,309
—EHE Y CCTVES AIESXIN 28523 153,060
=2 1,900& *6,50000 x12& 148,200
2 Bt 270 x1,50004 «12& 4,860
—S8H=EX UEHE EIle DA RER3
1,900& +3,50000 x12& 79,800
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—EYHFEXN BEHE FIIE DN BSE=2
SERS 2703 *1,70000 x12& 5,508
—gRsy S5 DN RHRI
2703 *2,80000x12& 9,072
— DAY EN HEHE SERS
1,930& »3000H 579
—UEE HE ERESd LA RERS
2703 %33,5000H 53! 45,225
— UL HE EFSsd DN ERS
270& *1,50001 x93 3,645
— SN Ml & fEHRS
1,900& =1,800AH 3,420
OSYF=EX B PARIME AIERE
10,0003 «50 x12& 600
ORdI S8 MEE 36,0003 «6CH 122 2,592
OZ2MUM MEZ 22,2002 «50 =128 1,332
OPAEETIE AEE UHUAMES
70,340 123 845
OSYERX UL 28 Lyl
200,000 »14H 2,800
OEY=ZI HML2eAAE SXEH
700,000& = 12& 8,400
202 O4dl 14,400 14,400 0
02 M| 14,400 14,400 0
OEY=ZX &= AIZFH AR ol
150,000& »8&H x12& 14,400
203 YR =&l 3,000 3,000 0
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—Jl=s 40,1003 10«15 6,015
-5 40,1003 =10 »3 1,203
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—HLEE 6,016,000& *2.9% 175
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O28 ==X S5 AZEMAH%Z Q1AH| 187,699
- =0 1,174,980& x8H 123 112,799
— AL EEE 144,320,000& *2.95% 4,258
—EIRYEER 4,258,000& *6.55% 279
— =3z EE= 144,320,000 *4.5% 6,495
— 1828z 144,320,000& *1.5% 2,165
—MATHEE = 144,320,000 * 1% 1,444
—EA= 6,000,000& 3 18,000
—JIEE
80,000 *35A1 2H/40Al 2t +8LH x 12 6,720
— Az B XH|
105,000 *35A1 2+ /40A| 2+ +8H »12& 8,820
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N = 0l & At & Ml A

20148 & =204 WS ALY M
FN: SEF ZHUSH
HE: DEMAHY
H2 FUHE A2 (LS AHY) (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEF ZHnsSH 772,987 795,170 A22,183
sz MNed 626,620 650, 182 AN 23,562
FIE S22l (RSAHY) 54,625 65,000 A 10,375
SEFUHE 29 51,640 65,000 A 13,360
201 Let24dy] 6,640 12,600 A5,960
01 At 2teltl 6,640 12,600 25,960
OZgF=X& st2el 29
100,000& 100 A x 1204 & 1,200
OBR2SH WY 22 829
100, 000& 264 2 23] 5,200
ORINPSBHFRNE HIIX B2lAAE OIF
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